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Honors Algebra 1 (Graphing Calculator Section) Name [TV soeaAlT Coury.

Final Exam Sample Review Problem Set #2 Date Period

INSTRUCTIONS: CLEARLY SHOW WORK. ROUND TO 2 DECIMALS UNLESS
OTHERWISE TOLD.

Fit the Best Fit Line
a) Construct a scatter plot.
b) State if there is a positive, negative, or no correlation.
¢) Use TIcalc to find the equation of the line that best fits the data (round 2 decimals)
d) Plot the Best Fit Line on the scatterplot: Label the y-intercept(Y);
Label 2 points with their letters & ordered pairs - pt A:(2000, _) and pt B:(6000, )
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y=0.055113x + 378.92
Solve the system by graphing using the TICALC.
a) Sketch the graph
b) Identify the solution on the graph and label.
¢) Check algebraically. Roundt checks to 3 decimals.
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Graph and solve the quadratic function:

(a) Clearly graph at least 5 points and provide the supporting table of values.

(b) Give the ordered pair for the y-intercept: "Y-int (_, )" If possible, mark graph with a "Y"'.
(¢) Mark the axis of symmetry with a "AS" and give the appropriate equation.

(d) Mark the vertex with a ''V'" and give its ordered pair.

(e) Mark the x-intercepts with a "X'' and give the ordered pairs.

(f) Solve the quadratic fuction and label solutions '""Roots are x=..."",
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Graph and solve each function. ROUND TO 2 DECIMALS.

(a) Clearly graph marking at least 5 points and provide the supporting table of values.
(b) Mark the axis of symmetry with a ""AS". Provide the appropriate equation.

(c) Mark the vertex with a ""V"', Provide the ordered pair.

(d) Mark the x-intercepts with a ""X" by estimating its location.

(e) Solve the quadratic fuction by graphing. and label solutions "Roots are x=...".
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Solve AND CHECK equation by taking square roots. CLEARLY SHOW WORK AND
ROUND TO 2 DECIMALS.
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Solve AND CHECK with the quadratic formula. CLEARLY SHOW WORK AND ROUND
TO 2 DECIMALS.
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Solve AND CHECK by completing the square. CLEARLY SHOW WORK AND ROUND TO

2 DECIMALS.
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For the following word problems:

(a) Sketch and label the graph. Include units and label the variables.
(b) Write the model for height as a function of time using function notation.
(¢) Use the quadratic formula to solve. Clearly show your work!!

Round solutions to "ONE DECIMAL". Circle your solutions.
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(d) Answer question in a complete sentence.

8) A rocket is launched from a top a 50 ft
cliff with an initial vertical velocity of 200
feet per second. how long after the rocket
is launched will it hit the ground?

T

7




9) complete on next page
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For the following word problem, follow instructions from prior word problem:
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Simplify each expression. Leave in factored form.
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Simplify each and state the excluded values.
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